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¢ Please check that this question paper contains 11 printed pages and 2 pages
of maps,

¢ Code number given on the right hand side of the question paper should be
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# Please check that this question paper contains 26 questions.

* Plecase write down the Serial Number of the guestion before
attempting it.

s 15 minutes time has been allotted to read this guestion paper, The question
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students will read the gqueslion paper only and will not write any answer
on the answer-book during this period.
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There are 26 questions in all,
All questions are compulsory.
Marks of eavh guestion are indicated against it

Guestions number 1 to 10 are very shori answer guestions
carrying 1 mark each. Answer fo each of these gquestions should
nof exceed 200 words=.

Questions number 11 (v 20 gre shorl answer guestions  carrying
3 marks each. Answer to each of these guestions shoudd not exceed
B words, .

Questions number 21 fo 25 are lung answer guestions corryving
5 marks each. Answer fo cach of these questinons showld not exeeed
150 words.



{vii) Question number 26 iz related fo identification or locaitng and
fabelling of geographical features on maps.

(viii) Outlinge maps of the World and India provided fo you must be
attached within your answer-hook.

(iz) Use of templates or stencils for drowing outline moeps is
allvwed.

L. 'TEEn gie I & ufedm gt | I
Define the term ‘Topulation growth'

2. Han ¥ wed wiEwm f A S 29 HS Ewe | 1

Name the country having the highest sex ratio in the world,

2. T W= H oo ffew !

Define the term “Tourism’.

4, =94 feEFar & F5 5 STEE SE | ;—réﬂ
Give any two examples of quarternary aclivilies.

5. 2001 % S % HHW wWE § Sden @ gee Eed @7 !
What is the density of population of India accerding to 2001 census 7

6 wig F e o= A e W TR Sewen = v A SWE 7 1
Which state of India has the lowest perceniage of population below
poverty line 7 '

7. g vy % el 2 e TRd % AW weny é%»é:?

Name any two metropolitan cilies of Andhra Pradesh.
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10.

11.

12,

13.

14.
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Which is the eastern terminal city of East-West Corridor ?

TRUE & @ R 3% & TR $ T Z90 T OTEEr % A S E | i

Name the vrailway line that was constructed between Hoha in
Maharashtra and Mangalore in Karnataka.
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Name any two diseases that are caused by air pollution.

W R S SR SR | SEd @O ven AR & OSEN w5 W OAEE 50
feffr dife wogt % o1 % A0 == E 112=3

Define ‘Human Geography’. Give four examples of elements of
material culture created by humans, using the resources provided by
nature.

‘e EEE % FEw T F e e Eeas @ owe sifEg o Fwl=3

Explain any three features of ‘Welfare approach’ to ‘Human
Development”,

Fifam | 1+42=3

How do sccondary activities add to natural resources ? Explain with
three examplos.

W OV W e B¢ AT W Werd ¥ 9N "E W Ieed afer | 712=3

Why do pcople migrate 7 State the four streams of migration in
India.



15. == & T qRT ® AET W= weEd fiee A7 sEs 99 T o s & e
GIEEEE

B4/

- L6

L. i

g ST

{15.1)
(15.2)
{15.3)

HEWE H e wEeTE YR § 7 :
Y © RA-9 g4 9351 SeAdy wel & 7

A & AE @ qEei I & A gaEn W et § e
g |

|".F.:"‘; f =l:?

& 3580 8 4



‘Study the map of India given below and answer the questions that

follow :
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i15.1) How many metropolilan cities are there in Maharashtira 7
(15.2) Which one of them is the larpest metropolitan city ?

(15.3) Name the easternmost metropolitan city of India as shown in
the map.
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T feifEafa N9 dae gfeai wien g & Gy v Fer 15 & @i W
Noie ; The following guestion is for the Blind Candidates only, in liey of
Q. No. IS
YRR T TR E frm W e T Tt § oemm owEm 2x1=3
Explain the evolution of towns in India in any three points,
16. “9-¥AEAl & SR 3 & fou s 8, TEeE seitae s oo i §
FE T TE T AR T T F O S | 3x1=3
“Land resource is more crucial to the livelihood of the people depending

on  agriculture.” Supporl (s stalement with any three sutable
arguments.

17. wwd & T S A, 2002 1 & A0 7o et @ oavly AifEw 0 ge1=3
Describe any three key lealures of India’s ‘National Waler Poliey!, 2002,

18. #ra #I A famge wite ol = wds @ifsg Fxl=3
Describe three hroad belts of minerals in India.

19. & for 70 9vE & U W@ W 9 # i fTEH SR amE W osers
i it 3 A foy T g & oI efa Bl

(19.1) T9 TE7 9T S AT SN IR 9w ST |
(19.2) 7 H49 v & fFg usa § fom 2 7
(19.3) ¥9 #97 & o & s % Hie W A9 TAEy |
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Study the diagram showing the location of a major steel plant of
Indin, given below and answer lhe questions that foliow :
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Muhonedi River

Bilaspur

Balaghat
s

L= Thite Eaipur

Stoeel Plant
Dolomite
Manganese
Iron Qre
Coal

Iron
et 3 i bWy

Nalli Rajahara Hills

A

Tardula
Tank

B Nw B

(19.1) ldentify and name tho steel plant,
119.2)  In whieh stale of India is thas plant located ?

{19.3) Name the source of iron ore for thiz plant.

Fiz feE Fe 9w gieRlT enander & T Tv gew 19 & = ow
Note : The following gaestion iz for ihe Blind Condidafes only, in licu of
€. Nno. 18 :

ARA H wile sl T w0 F= AE & ald & e o faw ¥ 7 owme e 3er=3
Explain why are the iron and stecl plants located near the source of

raw malerials in India.
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21.

23,

24,

25.

26.
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e F T A B T O w0 & el o 9ass & S S, | Fxi=3

Explain any three problems faced by slum dwellers in India.

Far # werE oyERm & R ol @ # s #iE 5xi=5

Explain any five features of nomadic herding in the world.

o ¥ FES e & 0T A | S e S | Snl=5

Explain the merite and demerits of road tranzport in the world.

oW ¥ w=niy =R F R O e & W e | Gul=5

Explain any five bases of international trade in the world.

WEE % WA T TAE FOAEE Al 9 @ a0 § g9 S0 | 5=E a9 &
ferst <51 Tovmasl w1 = SiEd | 1+242=5

Classify the human setllements of the world inle two Lypes, by their

shape. Explain any twe features of each type.

“HEE SR W oarg o s meeyel e feaer & 10 38 R S ofe
= |

*Air transport plays an important role in the international trade.”
Support the statement,

b

(26.1) ¥AR & fam Mo Tenifes Fw-mmbe (1R 13 W) § frafafEn aw e
fﬂ@mm%: 4?%;2
A e T geme, 2008 # P qee geEsis g 4o
B.  FElET HHEV 1 US &7
C.  I-gEaf e | oafEm 2e -
D, sTEfEn ® OF W WE T
T T T TEEE S 3 TE O F OS E R T W 9
A A |
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(26.2) wa ¥ Rr m wwifhE oawf (e 15 m) § fefafas & fafy

g R AR REmy o 3w R
(il WAd fEs swe 9@ 19
(ii) =iEmm § fem 9 WY SeEm

(i) HE & TF " YR (2001)

Jxl=3

(26.1) In the given political outline map of the World (on page 13), the

following four features are shown :

A The countrvy having the lowest rank in
Development Index in 2003

B. An area of subsistence gathering.
C. Terminal station of Trans-Siberian Bailway

. A major sea-port of Austrahia

Human

Identify these features and wrile their correcl names on Lhe lines

marked near each feature.

(26.2) In the given peolitical outline map of India (on page 15), locale

*
-

(26.1)
(26.2)

{26.3)

and label the following with appropriate svmbols :
(i) The state having the largest area
(ii}  The @l refinery located in Haryana

(iii) A metropolitan city of Kerala (2001)

frefataT 579 9w STEET qiane & 0 79T 9w 26 & W WOE
The following quesitons are for the Blind Candidates onlv, in lien

of @, No 28

HiAe e gl 2008 F SowA g gEse S 43 & AW FaET |

T-FEAfE T @ El s EyE w2 2
TR & Fad AT H59% 907 757 & AW 5aET |
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(26.4)

(26.8)

(26.1)

(26.2)

(26,50
(26,4}

(26.5}

ety & 39 WE w AW A9EY FE a9 9T SeEE e g

2001 F FUA! % AR FA w WERE TR R0 F 7 5w =5

Name the country having the lowest rank in Human
Development Index in 2003.

Which iz the eastern terminal station of Trans-Siberian
Railway ?

Name the atate of India having ithe largest area.
Name the place where an oil refinery 1z located in Haryana.

Which is the metropolitan city of Kerala (2001) 7
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For guestion no. 26.1
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For question no, 26,2 7T °. 26.2 % A

Outline Map of India (Political)
I T ET- AHfET (TE)




